SO 103 - Polni ces
Podélny profil

.71
o 1y
AR ES © b cn
: : ® 2
S T | R, = — =
- e . S — . oemy || 2
S0y I | s SR ol £ -|%
22 S| B i 518 |3
: [S\H —_ ST g 2 2 2
= ~2 | [T S S 1S oM
OeNiE X e = S
‘o T < [RSkEk | — >
w5 | (=4 ShEEES sl s Y|z
Z 2 1| [8] SEomEs SIRIEIEE=3E
o e SEEEES | L | @ = |
O = e Z S FNu £l = M |2
S & zoSiz |8 e |8 =2
N 2> 2| <€ SE3a8 5| |t |§ |8 2
A =] V < < | S N 3 S =
"~ A S|& o QS =
g
o)
= £
< E
> g
o =
o 3 2
= & = <
S o= 2 E
=T 5 :
] N~ k=
o - N 5
=N Z =
NSRS > =
o— ¥ 2 =
T 38 =
= > = 2
z| K & = 3
; - i 2
”W, R - = =
N2 E E
5 SvR = — 2
8 Sl = =
S| R 3% £ o =
S o g1 5 |5
sl Q2 =] &= |2
s 8= =Z| > |z
M © puy h A .m W
25l =2 o | O |E
: 35| oK =SB
A5 +~ SN
4 2 =)
ManmerS (S| M e 2] & |3
sl ] s =
SE (S g .
20818 |o IS s g g
SIE 5 I8 (2| 8 S |& 2
SESEERERSEE SIS =
~ ~
= =
L _ e 52 - _ 000°0F — 290791 — 290791 — 00°10
5 0RO RO _ Z° Z° %3¢ 000 0000F —990%91 —9901@ 4 3 F —
KE ©E s
o QE SQE ,
g S8 G670 W 009 NO a—= >> == | 1000~ —G80'%9} —980°49} — SB'S6 s
= INBNYL M31SNdOYd € __— | _ , , e
& B _ N 86 £67'0 — 86 £67'0 — f
41 - ~ '
7 g | L100- —111'49L —8Z1'+9) | 00°06 =
= ‘ ‘ ¢ I I = . S
HLVOL RS 68C0 W 2 | | 2100~ — 11991 —9Z1 %91 —| ££'68 =
| f
_” | f
s __ | 0100~ —L1zv9L —1zzv9l - 0008 = —
@E ! | ,
Eee : / |
o )
S35 “; 61791 €L TLT'0 W ZA : / | 9v0°0+ — 199791 —GIEW9L — €L
ST \\ \ / | . . . . S 5
JURTES : , 8Y0°0+ —Gey 91 — 8691 —| 00°0L = 3
.. / f Z
\ | m
/ | 1
\ / | 100+ —¥8L791 —£SL V91 —{ 0009 5
G6'v91 ‘¢l 9520 Wy 77 7 | 6200+ — 56791 —¥1691 — £1°95
/ 7
/ | : : . . g
/ , cv00+ —¥£CS9L —161°691 — 000§ S
/ | )
/ f
/ 7
/ f GO0+ —¥69'G91 —0£9'G91 — 00°0F W — ] Lo
/ | :
\ ﬁ - 06°6¢e¢
/ | =
/ , 8600+ —¥S1'991 —960°991 — 00°0¢ =
/ i I
S / |
o / ,
rS / |
¥ - f 8900+ —¥19'991 —/¥5'99L - 000 &
/ f
/ | o
, ~
/ | . 2
7 f 8500+ — L0291 —910°291 — 000} = m
/ | g
\ , &
y 7
; | Y500+ — 559l —0gv el 4 & S —
/9°791 ‘00 /610 Wi 7) \\ \ 7 600+ —2L9°/91 —£29°L91 — 00°L6
/ 7
/ | s
| 7200+ —/86°£91 —£96'/91 — 00°06 S
/ | =
. / f
\\ 7 L -
; | 1500+ — 607’89} —BL5B9L - 0008 & [—
f
Ece \ f
mog . . . \ ' . . . .
S92 l\ 8/°891 ‘00 $/1°0 Wi ZA \ \ i ¢£00+ —989'891 —¥59'891 — 00°¢L
N | . o
RN / | €000+ —108'891 —86.'891 - 00°0L =
/ <2 32 |
\ MM = S e f
) s 3 '3 |
‘ =~ EoR ! 7100~ —191°691 — /1691 — 0009 & —
/ = 28 |
oo =) !
/ "€ € |
/ f
. J—— | 6000~ — 684691 — 86469} — 0006 =
75691 ‘00 6¥1°0 Wy 77 / | €000~ — 02569 —£75'691 — 00°6Y 2
/ |
/ |
7 | 6L0°0+ —66L°691 —0ZL'69L — 000F &
/ |
& \ i
8o / | _ _ : : g
S f 6v0°0+ —601°0LL —090°0L} —{ 00°0¢ S -
& / , h 3
- | =
i) , i
/ |
/ f
/ f 650°0+ —617°0L1 —19¢°04L — 0000 &£ —
\ |
/ | GEO0+ —62L°0L1 — ¥6Y0LL — 0001 g
7
G2'0/L ‘00 901'0 Wy 7Y \ \ \ ! L1100t —¢€S8°0L1 —¢¥8°0LL — 00790
/ f
/ 7
7 f 8000+ — 09011 =220 1@l 4 S £ —
y / f
/ |
/ | L00+ —S82 121 —607 1L —{ 0006 | E
Ece \ |
Se= - G : 3 / | . . . .
S5 A 0G1/1 ‘00 G800 Wy ZA / f GG0°0+ —¢Ce L1 —89¢ 1LY — 0068
%nﬁ i \ \ \ 7
Rt > : 1
(z3) N wrazow : \ 7 100+ —06Y 1Ll —6LY 141 — 0008 &
: f 7
| |
| , —  -esu
7 P00+ —GY9' 1L —219°1LL — 00°0L =
€ \ 7
gs | f
TR LLLL 00 $90'0 Wy 77 \_ ﬁ GC00+ —LLLLL—6L9°LLL — 0049
s
\ \ f L800+ —¥SLLLL— LU0 0009 & —
| | e
\ i W
Cg'1/1 '0S 2500 Wy 7 \ ﬁ ¥S0'0+ —6¢8°1LL —SLL L — 05728 =
\ i f 6000+ — 168’1/ —Z¥8'1LL — 000G S )
e
o E e h i
o ~M
S3S <« 06'LL1 ‘00 SO0 WA ZA | f 1200+ —9/8°1L1 —8S8'1LL — 006y
o
1h | |
f SO0+ —9/8'1L1 —1T8LEL < 000F &
18111 05 /S0'0 Wy 77 _ & - i Cv00t — 298141 —Ge8' 1LY — 06°L¢
] ac ! .
58 | - = f L e
S = 1
G S | " = |
= N | = S« , . . . N 8
O S & N
8 = | &g s =8 ,
> Q SO =3 e i
o ﬂ < ,Wbmm HO ,%m |
= Fee 6L'1L1 O 220'0 Wit 2 __ N = 32 => | 2100~ —26L°1L1 —408'LLL = 0V'2T
Q N ars  Sou 4 G ‘" w o8 ——woe  ZL 0 60000 f pl00+ — V8L 1L —6LL 1AL 0007 & —
N 00 0000 SR= > BLILL 06 61070 Wt ZA N &9 =2e , LI00 —S6L L1 —8LL 1L - 0661 R
= ETES CO L1 OV L10°0 Wy 77 = =R e &S f Se00+ —/S81LI —ce8LLL — OvLl 3
R Zwo. nSX ! S
A Z30) NA INN3ZQWN N NIL3)) ¥ALd0 W3Z00d =SS =2 7
20 7100 wy SN L0 ¥10°0 wy Yo =S .
> N S E 90 710°0 — f
% QLT 0150 o7 . S \ \ %6 3000 — 7 000! 0000F — LL6'LL1 —LL6'LLL —{ 0001
m S €E p y0'ZL1 49 900°0 W 7y i X €100~ —¥¥v0°CLL —LS0TLL— ¥9°90
23S CTIR . 0060 900°0- — 6904 —GL0'ZLL — 1D
: 16 S00'0 WY ‘009 NO 829 s EW Loedl vb 5000 &; 2\ [ %60 1000~ —080°¢Ll —180°¢LL — 160
VM... INBNYL Y3LSNd0¥d YL MM 80°CLL -v9 £000 wWx 27 x 'Wv_ ﬁ 1000~ —280°7L1 —§£80°TLL — ¥9°€0
S 's hﬁ’oit 00 0000 WA 0Z = - 0000 0000F —001°221 —001 38l - S - 000
o ) M_ %60 E
< = 3
= &
~ ©
—
© E 5= =z o = z = & 2 2 2 5 3 &
s o =t 52 = S = = = S =2 S &= =
7 3 ortd g 2 o & 3 £ = 5 & 2 4 o 2
= Eo = = = S = = = 3T ©» 5 T w
= S N 2 = o = o = 3
] S= = 2 x 3 ~ g o=
2 =S & 3 = =
= i S 3 2 2
= =
X7 =




